Summation and Induction

For integers m,n w/ m\n and a function of enfinedym, m=1, m+2, ..., n, wn define

 $\sum_{k=m}^{n} f(h) = f(m) + f(m+1) + f(m+2) + \cdots + f(n-1) + f(n).$ k=m v = copper bound: end sum here.

Anatomy:

Gruh lattur Sigma
(for "sum")

dummy variable ?

aig. f(k) = k. Then

$$\int_{k=-2}^{3} f(k) = f(-2) + f(-1) + f(0) + f(1) + f(2) + f(2)$$

= -2 + (-1) + 0 + (+2 + 3) = 3

If we have a for f(h) (as above w/ f(h): k) frequently write down for la instead of f(h):

 $\sum_{k=-2}^{3} k$

$$\frac{4.9.}{k=1}$$

$$\frac{4}{2} \left(k^2 + k \right) = \left(2^2 + 2 \right) + \left(3^2 + 3 \right) + \left(4^2 + 4 \right)$$

$$k = 2$$

$$\frac{4}{3} \sum_{k=1}^{3} 3 = 3 + 3 + 3 + 3$$

Q Is a, a, az, ..., an arr numbers & x is a variable, what is

A polynomial! $a_0 x^0 + a_1 x^1 + a_2 x^2 + \cdots + a_n x^n$ $= a_0 + a_1 \times^1 + a_2 \times^2 + \cdots + a_n \times^n$

If an +0, then this is a polynomial of digrer n.

Q what do we make of $\sum_{k=m}^{n} f(k)$ when n < m?

This is the "empty sam" — ; t takes the value 0.

Products
$$TT f(k) = f(m) \cdot f(m+1) \cdot f(m+2) \cdot \cdots \cdot f(n).$$

$$k=m$$

e.g.
$$\prod k = 1.2.3 \dots n = n!$$

$$k=1$$
read as "n factorial"

Convention: empty products are equal to 1

In particular,
$$\prod_{k=1}^{\infty} k = 0! = 1$$
.

Mathematical Induction

Suppose P(n) is a statement depending on integers n.

e.g. P(n): thea exists a prime # larger than n

p(n): $\sum_{k=1}^{n} k = \frac{n(n+1)}{2}$ is frue

. P(n): a cartain property holds for all polynomials of degree &n

if P(n) = T for all integers n then the property holds for all polynomials.

Monday, February 2, 2015 Suppose 7(n) is such a statement. Than P(n) is true for all nzno if (1) Base case: P(no) is trae 2 Induction step: P(m) true for meno, norl,
topplus by 0 000000 n-2 n-1 n no not not? @ says if the fall, then they topple n as well. 1 + (2) are "strong induction"

1) Base: $P(n_0)$ true (induction: also base: $P(n_0)$ true $P(n_0)$ for all $P(n_0)$.

Proposition $P(n_0) = \frac{p(n_0)}{2} =$

 $\frac{\text{He graduction on n}}{\text{the LHS is}} = \frac{1}{2} = 1$ $\frac{1}{2} = 1$

assume that we have nono s.l. For induction, (n-1)+((n-1)+1) $=\left(\begin{array}{c} x^{-1} \\ k \\ k=1 \end{array}\right) + h$ [algebra] $= \frac{(n-1)((n-1)+1)}{2} + n$ (induction hypothusis) $=\frac{(n-1)\cdot n}{2}+\frac{2n}{2}$ $=\frac{n^2-n+2n}{2}$ $=\frac{n^2+n}{2}=\frac{n(n+1)}{2}$ By induction we bern that $\sum_{k=1}^{n} k=\frac{n(n+1)}{2}$ for all n>1.